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Scalars & Vectors
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Vector Addition
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Resultant Vector
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The following diagram shows forces of 12N and 16N acting on a particle, P in directions north and

due west respectively.
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Which of the following BEST represents the resultant force?

a) 28N 20N ¢) 4N d) 50N
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2. The direction of the resultant vector is towards
a) North-east b) South-east c¢) North-west d) South-west
‘Aalculate the Resultant Magnitude and Resultant Direction.
\1
10 —> 3




@ Kapoor Classes

Resolving Into components
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A force of 30 N acts at an angle of 30 degrees above the horizontal

20 cos30’

The verticalaand horizontal components of this force are respectively

a) 26N and 15N o and 26N
b) 20N and 12N d) 10N and 10N



@ Kapoor Classes

Find th¢’vector sum of the following
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Show your work for part C and D and solve for both Vector Sum and Direction.
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